January 30th
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Numeracy

Work out 52
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Add together 93, 29 and 102
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What number is halfway between 8
and 13
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Mary thinks of a number.
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She doubles it.
She then adds six.
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Her answer is 32
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What was her number?

French | German | Spanish | Total
Female [ ¢ F 7 23
Male 5 2 [Jo | I3
Tl | 14 s || 7| 40
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Foundation

Calculate the circumference of this
circle.
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Workout3a+2cwhena=4andc=-2
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A ten sided dice, numbered 1 to 10 is
rolled.

What is the probability of a 3?

What is the probability of a number less
than 47
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What is the prob!b?ity of a square
number?
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A car travels 100 miles in 4 hours.
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What is its average speed? -
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Higher

Write 32000000000 in standard
form.
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Write 3.5 X 103 as an ordinary
number

500

A barrel weighs 400kg to the

nearest 10kg. L"OS t) .

A lorry can hold 4 to% es to the

How many barrels can be safely
transported?
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